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1. SEfi A L K, D, B3R G U 99 @ 0 1 3 7% 33 F | A, G 3 a0l a0 g0 o o 3 2 3
‘G, K &l e SN wH W ¥R | B 'G’%Wéa% | g8 FRff E R A2 2
1) L (2) K ™N3) D 4) A
Six friends A, L, K, D, B and G are sitting on %ench facing towards North. ‘A’ is sitting second to
the left of ‘G’ and ‘G’ is sitting fourth to the rigt of ‘K. ‘B’ is sitting to the immediate right of ‘G’.

Who is sitting at the extreme left end ? ;;'
(1) L (2) K 3 D 4) A

2. faue siive 1 o s i s e w1 IR AR | sre-ste @et § 4 T de sTe-oten s
S et safthal e et ] |

AA g

Ne)
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o
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o Q

FH-Y-FT a1 TG e aret safewa i dea ﬁﬁ:ﬁ%
(1) 22 (2) 17 3) 25 (4) 14

Study the given diagram carefully and answer the question. The number in different sections
indicates the number of persons who speak different languages.

Q™
(N

=T
)
(|
o0
O
English ™
What is the number of persons who speak at IBEE:‘ two languages ?
— @ 17 #3) 25 ) 14
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31 o, ST (A) ST RO (R) 3 0 3 rwifeer o e & | A el s ST afg S g2 i wmmm
4 wE IW T |
YT (A) - TATIH ATEAT & FEIATS I ST AT ST 2 |

FRU(R) ﬁ%mwﬁw%aﬁmm%

(1) (A) IEI L, AfFT (R) TH B | 0
2) (A) 3N (R) T T &, AT (R), (A)EEIEB‘TW?S?%I
(8) (AU E, AR (R) A 2

4) (A) 3 (R) I a7 AT (R), (A) ) gt AT R |

Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : Use of electric vehicles is being promoted.

Reason (R):  Electric vehicles are more environment friendly.

(1) (A)is false, but (R) is true.

(2) Both (A) and R) are true, but (R) is not the correct explanation of (A).
(8) (A)is true, but (R) is false.

(4) Both (A) and (R) are true and (R) is the eorre‘g( explanation of (A).

a‘rm,aqﬁﬁmm)aﬁtm(m%wﬁmmfgﬁm%laﬁmﬁﬁmﬂu@mﬁuﬂt@ﬁm
H HE I I | :f_l

STfireA (A) : TS 26 S Bl T foer AT E |

R (R) : 2eaﬁﬁ1947ﬁmﬁﬁnwﬁ$$§am

(1) (A) G R, AR (R) TR

(2) (A) 3 (R) 3H! TeF &, AR (R), (A) I Ot AT 7T 2 |

(3) (A)EH e, A (R) AR

(4) (A) 3T (R) SHI & & A1 (R), (A) % GEl AT B |

Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : We celebrate Republic Day on 26" January every year.
Reason (R): India became free from British rt{lii on 260 January, 1947.

(1) (A)is false, but (R) is true. i~
(2) Both (A) and (R) are true, but (R) is not the @rrect explanation of (A).
(3) (A)is true, but (R) is false. ““'

(4) Both (A) and (R) are true and (R) is the corrwt explanation of (A).
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5.

(4) nvm

7.
% e o, Rz, @, Zamm, W it R uw @edfsen sama fi semsgem d@fed wowe
2 | =T T S arelt wifvrer 7 TE @ & | W i nfirer S Fae o fim wd # | ez e F 4
et A it T @ | Zarre 3R st o sttt ¥ ofte et s war 2 |

T el e R A 2 >

(1) frg 2) W (3 am (4) Tz
Six friends Arunesh, Jitendra, Charu, Beévansh, Pradeep and Kitu live on different floors of a

six-floor building. Charu does not live on rﬁ'{e top floor. Only three friends live above Pradeep’s floor.

Only four friends live below Jitendra’s floox. Only Arunesh lives between the floors of Devansh and
Pradeep. 1

Who lives on the top floor ?

(1) Kitu (2) Pradeep (3) Devansh (4) Jitendra

I T e % A @ e 1 S 1T ek e S afed R e # | e 98 7 e @ R e
YA T3 HT IW 3 & foIq aie /2 | 3Rt o 1 afgw oiv 3faa 3w qa il

Ush %2 AT 3 ‘beautiful’ 1 HE FTR 2

FY -

1. a@ﬁagr ST H, ‘She is beautiful’ &l ‘Ta‘,}ie Na’ fo@rsmarg |
II. a@ﬁagwﬁ, ‘Red beautiful flower’ 3@3‘8& Ge Ta’ for@r ST 2 1
(¢ 8)
(1) ma‘rmlaﬁﬁmwnaﬁma}%méﬁ%@m%l
(2) U 11 3Rt € ST ol L < R YaITeet R Sfeifeh sher I 31ehet Tafeel e 2 |
(3) ST e 1 37 11 Uk w1y firersht W o1 Fe o o forq ammaeah € |
(4) A T 1K & T o1 T A o T @, SHefieh e 11 ekt T e 8 |

Given below is a question followed by two statements numbered I and II, each containing some
information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appropriate answer.

What is the code for ‘beautiful’ in a certain code language ?

Statements : o -
I. In the same code language, ‘She is beautiful’ is written as ‘Ta Re Na’.
Ii In the same code language, ‘Red beautiful flower’ is written as ‘Sa Ge Ta’.
' o
[ o NI B .
(1) Either statement I alone or statement?l‘] alone is sufficient to answer the question.
(2) Statement II alone is sufficient to t_'gmswer the question, while statement I alone is not

gufficient. A '
(3) Both statements I and II together are mecessary to answer the question.

(4) Statement I alone is sufficient to ag}‘uswer the question, while statement Il alone is not
|
gufficient.

e e
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(5
aﬁ%@m%ma’twtaﬁtumgﬁymrﬂn%aﬁt{ﬂﬂ%l-m%wmﬁﬁ
aﬁ:r-m@:r-ﬁmmwaméﬁ%gm%f?mﬁmaﬁw%qaﬂtaﬁamamﬁrﬁml

&1 H ST 1 AT fhai @ ?

YA

<

L e erie Swa 109t o i & 1007 2 10

I, 11SEA & HIaTaFqE| %
(48]

r'\
=
(1) AT 1 3T A 11 STl S 1 I e 3 T
(2) YA 11373t 8 WY 31 3T 27 B T & Sk Ho 1 Il T e € |

(3) 19T e T 39T 1T Ush arer Fireiant Yo &7 39T 3 o foTg STTaeare & |

(4) U1 TS B WO ol I 3 2 TR & STeIfeh o 11 STkl wI T ¢ |

Given below is a question followed by two statements numbered I and II, each containing some

information. You have to decide which of the statements is/are sufficient to answer the question.

Read both the statements and decide the appm{g‘iate answer.
What is the number of students in the class ? ?3

™
Statements : ™~

. Rank of Chetan is 19* from the top and 1‘.‘11}‘ from the last.

I 11 students got lower rank than Chetan.

(1) Either statement I alone or statement II alone is sufficient to answer the question.

II alone is sufficient to answer the question while statement I alone is not

(2) Statement

sufficient.

(3) Both statements I and IT together are necessary to answer the question.
¢ sufficient to ansipr the question while statement II alone is not

(4) Statement I alone i

sufficient.

868

e
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(6) T‘P&g
faw e w7 3 e o ofit swh ST 3 qEuROMd | o 11 € ¥ | st R o e 2 R qemome A
F-d/ER-Y Fa d Afka 22|

e . IPL W garatt & sfir sl eehfsa & | :g)
JHIROT - .
I WA aftss et 1 IPL ghe @i 2 | g
I oft R gar IPL A9 e e e &1 i~
el
)
(D) I3RIISH fAfRa s (2) shaa 11 fAfea
(3) FarrafnffRaz) (4) aa | Ffea )

The given question consists of a statement, followed by two assumptions numbered
I and II. You have to decide which of the assumptions is/are implicit in the statement.

Statement : IPL is popular among the Indian youths.

Assumptions :
1. Indian senior citizens do not like IPL. <
II. All Indian youth like to watch IPL matchesf"'g
o
(1) Both I and II are implicit. f@) Only I is implicit.
(3) Neither I nor II is implicit. @) Only I is implicit.

T 1 o e Wi, o, 37egel, IIGR, FOTer S 399 & | <ffeh Thet % s et e e 2, gufen v
Ryeres =5t aTe 3 o R 3 20 Gt B e R 3 fore ek R e v e & | < 1 v v
2 | aysza, THE ¥ TS B foT il Wt T HET oA § | WI YRR H et T FT A ¥ 39N e qeran @
B S & | S U PR T e e B AT Y & | 230 P Rt et o e e € 2

(1) wfHEr (2) WA (3) qHaR (4) EFIR

There are six teachers in a school, viz. Bhanu, Raghav, Abdul, Shekhar, Kunal and Devesh. Since
there is no games teacher in the school, each ofthe teachers is allocated one day for taking games
class during six days of the week. There is no cﬁﬁ on Sunday. Abdul takes the games class on the
very next day to that of Raghav. Bhanu takes (khe games class on Friday and Shekhar takes the
games class on Wednesday. Kunal takes the gm’fﬁs class one day after Shekhar. On which day does
Devesh take the games class ? I

. , Mond
(1) Saturday (2) Tuesday 4@) Wednesday (8] Nonsiy
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<@ v i, 3 T Ay

Fremd | ok 11 fu o # | fu o FET F A o gmn e B S Eea
foeeped FAfoea SU @ g 8|
FYA G<L£Q,W=T;Q =}

/s I G<T :UL

L W>L @
wét forsrea i )
(1) Far e 1o s 1 aer 2 = (2) FFw i naE)
(3) fswd [ afit 11 St wer | ¥ @) Fsafrdiaa?)
In this question, two statements are

followed by two conclusions, numbered I and II. Find out which

conclusion(s) is/are definitely true, based on the given statements.

Statement :G<L<Q, W=T> Q
Conclusions : 1. G<T
II. w> L
Choose the correct option :
(1) Either conclusion I or conclusion II is true.

(2) Only conclusion II is true.
(3) Both conclusions I and II are true.

(4) Only conclusion I is true.
%amﬁmﬂﬁwmm%a%aﬂtgﬂ?,ﬁw%@maﬁm
%ﬁg%mﬁmaﬁtmmaﬂﬁaﬁa%? oo

L0
1) o (2) HuA

%%Wﬁﬁﬂg@aﬂ%%%@oﬁ,ﬁw
o3t R | e o o F Fe e A 2

1 (3) TFA 4)

HAT
Six friends Vinay, Kapil, Suman, Mukul, N‘!g.i}:a and David are sitting around qa circle facing away
from the centre. Mukul is sitting third to thedeft of Vinay and Suman is sitting to the immediate left
of Vinay. Only Naina is sitting between David and Vinay. Who is sitting second to the right of
David ?
(1) Vinay (2) Kapil (3) Mukul (4) Suman
T U H, 31 AT & a1g af e 1o 11 feg e # few mu et % smam v wEr R i SaEad
Frepd fofewa wu G amr 23
FH: D>B>W, Y>W>M
L Bz2M
II.M<D
(1) ar 4 e 1 97 s T e 21 (2) Fad fend | e
@) oot 1 3 11 ST wea | £ (@) et Frerd 1w R
In this question, two statements are followedby two conclusions, numbered I and II. Find out which
tonclusion(s) is/a’are definitely true, based on ﬂl’p given statements.
Statement : D > B » W, Y>W>M TH )
CO"ICIusions : I B2M 4
I. M<D
(1) Either conclusion I or conclusion I1 is true. (2) Only conclusion [1 is true.
3)

Both conclusions I and 11 are true. (4)  Only conclusion 1 is true.

T% w4 o 10 T8 / SPACE FOR ROUGH WORK
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[0}
77,
18. WWWWWWWWWWHW!W@@ﬁﬁT@G@THW@H@T
e R i it e, et o o 700, & s s e P ®
fifeeh
15 ] y 8
0
5 2
2\ 4 34
/ 6 \12 ) T o ™
9
o
iﬁﬁﬁ@nﬁmﬁ%ﬁ%ﬁiﬂﬁ\ﬁaﬂtwﬁwﬁfrﬁm%ﬁaﬁmmmﬁm%ﬁﬁmnﬁmﬁ
L & 2) 4 (3)-12 4) 2

Study the given diagram carefully and angw

T the question. The numbers in different sections
indicate the number of students who have %red more than 70% in three subjects, Physics,
Chemistry and Mathematics, w0

0

Physics ™M
M
H

15 k

5
L 2\ 4
6 \12 /Chemistry
9
Mathematics

not in Mathematics ? " 00
W 6 2) 4 ‘é{a) 12
_-—_-_-_‘_"‘—-—-—-_-_____

“4) 2

T T % forg worg sp'ﬁbe FOR ROUGH WoORK
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16.

17.

(9) JSA-2023/D7

‘A+B F3d® ‘A BRI
‘A-B #ALR ‘A B HFfUare |

‘AxB FAHER A B HFEL -

‘A:B FIAT A BATY -

IIF F AR W AR T+ VxQ+S+M-F, a‘rm@T’ﬁrmmmﬁm%?

(1) foar g (2) wishraf @ t ot WIS (4) Toar s foar
7

‘A + B’ means ‘A is the wife of B’

‘A — B’ means ‘A is the father of B’

‘A x B’ means ‘A is the brother of B’.

‘A + B’ means ‘A is the daughter of B’.

Based on the above, if ‘T + V x Q + S+ M — F’, then how is ‘M’ related to T" ?

(1) Father’s brother  (2) Mother’s mother  (3) Mother’s brother (4) Father’s father

aﬁ?r?raﬁmﬁaﬁﬁwgﬁ%maﬂtzkmqﬁmﬁaﬁlw,ﬁqaigaaﬂmmwﬁnﬁmaﬁ
ngﬂmaﬁtskmawmﬁ@rwﬁwwﬁsﬁﬁ%wﬁmﬁﬁm@aﬁtwwﬁm 10 km I g &

e oTeR T T | 3 S S e vt 2 gt P 22

(1) 13km (2) 12km @ 14 km (4) 10 km

d travelled 2 km @wards west, then he turned right and travelled
m there he took a bus which travelled straight

s and reached his home. What is the shortest

He

Arpit started from his office an
2 km and then turned left and travelled 3 km.

towards north and he travelled 10 km by this

distance between his home and office ? H
(1) 13km (2) 12km (-glj 14 km (4) 10 km
i 1 i e 0 g, T T A e, a7 B 1 3 areT o ATl S B |
2 T Gfeea & &4 defd § ?
(1) o a1 arg (2) 9§ (3) wie g (4) T ‘
Pointing to Sushmita, a man said, ‘She is the only daughter of my daughter’s paternal grandmother.
How is that man related to Sushmita ?
(3) Mother’s brother (4) Father

(1) Fathers brother (2) Brother

@fﬁ’ﬁ'm%ﬁagaﬁngﬂuﬂaﬁgaﬂﬁgé@j@ﬁﬂz%mﬁm&%mﬁm%aﬁmmﬁfaﬁt
off | 7fg 3 wh-gwt Al ﬁna:g@ﬁ,?hmmg@m%ﬁm? y
) 4)

o o @ - d c'\h Raghav's shadow
i > ] ile walking ih the park. Bhaskar noted that Raghavs shd
Drmbrthig Raghase Bhasket Wh;lyew‘:re fﬂc%él each other, which direction was Raghav facing ?

was exactly to the left of Raghav. If the e
(1) North (2) West (3) South (4) Eas

1 & & feg e / SPACE FOR ROUGH WORK
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18.  Fr=feraa dear saen i wemamee g (2) 3 T W T ST =R 2
13, 27, 83, 335, ?
(1) 1128 (2) 672 (3) 1679 ‘ (4) 548

What should come in the place of question mark (?) in the following number series ?
13, 27, 83, 335, ?

(1) 1128 2) 672 &3 1679 (4) 548

19. il sver sho ot 2t it A fro e v e v
@ P,T,$,4,QR, GP,QN,D,FLHRF A NG |
aﬁﬁqwmﬁmﬁw,mmmmﬁgﬁ%mﬁwﬁwm%,fﬁa?l:r-mmaii’ﬁt
ﬁﬁaﬂﬁm%wwaﬁww@m H:

1 Q 2) s 3 T 4) R
Refer to the following letter sequence and answer the question given below :
(Left) P, T, S,A, Q, R, G, P, Q, N,D,F,L,H,R,F,A N (Right)

If every third letter in the given sequence is re

which letter will come second to the right of the fifteenth letter from the right end ?

1 Q (2) S (3 T 4 R
20. 36 9 H, A7 o fiw e ¥, Rrek are @) frses 1 A Rume | w1y

placed by its next letter in the English alphabet,

I WA BY, W € g
Mﬂﬁqmﬁ%ﬁ,%ﬁﬁqﬁﬁﬁmmm%fﬁw&,mﬁﬁmﬁmwmm%ﬁ{%%1
. i ERag o Tt Rad | o Wft faety swer ¥
Freef - -
L wfi #R37er | i
I ¥R H

(1) e 1 3t 11 x|
(8) a1 T 11 argeror T ¥ |

In this question, three statements are given,
Assuming the statements to be true, even if they
decide which of the conclusions lo

(2) %ﬁﬁﬁ@éllagwm%|
) et Pt 1 oo e 2

followed by two conclusions numbered I and II.
seem to be at varianc

: e with commonly kn facts,
gically follow(s) from the statements, JKown Tacts

Statements :
* All cars are buses. * All buses are toys. * All toys are gifts.
Conclusions : -
"L All cars are gifts.
II. Some toys are cars. %

; )
(1) Both conclusions I and II follow. 0 (2) Only conclusion II follows.

% (4) Only conclusion | follows.
T = & forg smre / SPACE FOR ROUGH work

(8) Neither conclusion I nor I1 follows.
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T L
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23‘

(11) JSA-2023/D7

W7 11/ Part 11
WEATHS AT/ Quantitute Aptitude

T 350 HieT st 37 72 mﬁmﬂwq&%ﬁ 1% firre § g et | gt i s (fier o) e

' O
22 0

~
(1) 1150 (2) 1050 ;-93) 1180 (4) 980
R3S
A 350 m long train running at a speed of 72 km/h crosses a bridge in 1 % minutes. What is the length

of the bridge (in m) ?
(1) 1150 (2) 1050 (3) 1180 (4) 980

ATEHed T 116 Ma kg IR T 1289ﬁkg,m:2:1%a1mﬁﬁaﬁam§|sumaﬁﬁwwuﬁ
kg q9 (T ) Toramm € 2 _
(1) 122 (2) 120 <£3) 126 (4 115

Two types of pulses of rates I 116 per kg q‘ig)gl ¥ 128 per kg are mixed in the ratio of 2 : 1
respectively. What will be the price per kg -(in @of the mixture so formed ?

(1) 122 (2) 120 F‘gs) 126 4) 115

=i
e T T dEaTs F S 66 & ['ﬂﬁﬁnﬁﬁﬁtaﬁaﬂﬁwq@mﬁaﬂaﬂmm%?

(2) 63 (3) 66 (4) 61

(1) 64
tive odd numbers is 66. What is the average of the lowest and highest

The average of six consecu
odd numbers out of these ?

(1) 64 (2) 63 (3) 66 (4) 61

TSt 10 foee & 1T 48 km/h £y ey & it 3Tt 16 fire % fT 60 kb &y nifey & T AT ] | T A F

SN 3 afrea T (/b ®) 797 A 2 3
1 551 (2) Bs L ga) 56 4) 54
5 2 &
utes.

48 km/h for 10 minutes and at a speed of 60 knv/h for the next 15 min
d (in km/h) during th%}vhole journey ?
18

1
1) 55+ ) 54= (3) 56
5 2

Rajiv travels at a speed of
What was his average spee

(4) 54

<& @Td % feTg STTE / SPACE FOR ROUGH WORK
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23.

27.

3682
&
]
o
8

(12) %
quq%%ﬁﬁﬂmmﬁmqmgw}wwwﬁqlwmmﬁﬂ?ﬁf
U HH E FAA A e 20

(1) 28 (2) 25 (3) 30

(4) 20
Rakesh obtained 25% more marks than Amri?uj and Suresh obtained 40%

less marks than Rakesh.
o .
Marks obtained by Suresh are what percenfm}éss than marks obtained by

Ambuj ?
O
(1) 28 (2) 25 ™ (3) 30 (4) 20
i
. . e
ﬁ'ﬂ-ﬂm‘ﬂmagmmzL 9,6

qara,
(1) 979 (2) 975 (3) 982 (4) 972
The largest three-digit number which gives the same remainder 3 when divided by 4,9 6is
1) 979 (2) 975 (3) 982 (4) 972
Freforfas & & 2 fumy 2 3w s i e 2
4 . 2 O 5 1
1) -— 2 = N (3 2 ’ =
9 5 o9 13 . 3
O
% 8
Which of the following fraction lies between™S ang 9 ?
4 2 5 1
B = (2) = 3 — S
9 5 13 @ 3
AT S U A #1150, A S AR e Ty 10% %5 % Gttt 8rar s =y = 2,100 9 3 39 Ry By
mmzmméﬁwlmwmq@ﬁﬁ)mm?
(1) 30,000 (2) 29,000 (3) 31,500 4 27500

Seema sold a laptop at a profit of 159,

7 2,100 less, she would have gained 20%

B S @ 29,000 S (3) 31,500

T F ¥ forg W

PACE FOR ROUGH woRk

x

Scanned with AnyScanner


pc
Highlight

pc
Highlight

pc
Highlight

pc
Highlight


(13) JSA-2023/D7

g9, T T T T I 5 Ry & 1€ AfeThT 1 ST HINTC | . | |
m%wﬁﬁqaﬁﬁw*eg-ﬁA,B,C@Dﬁlza?aﬁéqﬁmﬁéaﬁmﬁiﬂa‘raﬁrm
AT 2 | N

%
Lo

af > | 2018 | 2019 | 2020 |2021 | 2022
' =

81 78 82 83 80

83 84 80 78 75

70 85 81 65 79

UObdbe?g

78 69 86 89 84

2019 ¥ 2021 T 1@@@%&@@@?@@3@@%@&@%%%?

M C @2 B o @ D 4) A

e8]
O

Study the given table to answer the questionm'lat follows.

The table shows the number of students who appeared in the 12t Board Examination from four
schools A, B, C and D in different years. '

Year | 2018 | 2019 | 2020 | 2021 | 2022

School

{

A | 8 | 78| 8 | 83| s

B | 8 | 8¢ |8 | 78 | 75 |
O

C | 70| 8 | 8 | 6 | 79
0

D | 718 | 69 | 86 | 89 e
.

From which school is the total number of sgdents that appeared in 12" Board Examination from
2019 to 2021 the highest ? ”

(1 C (2) B (3) D 4) A

——

% %1 & foTU 5717 / spPACE FOR ROUGH WORK
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30. T TR AR TS U U 99 F T 1,451-25 B S 2 | A 54 I 2% A B, A ey 7 27 A
Bt | e o od ofir et 2 0

(1) T 1,350 (2) 1275 5%33 71,380 (4) ¥ 1,200

!‘H
An amount becomes T 1,451-25 in one year on %nple rate of interest. If the rate of interest wag
el 3 ! .
2% higher, the amount would have been = 27 motg! What is the amount invested ?
™

(1) 1,350 2) T 1,275 (3) ¥ 1,380 (4) ¥ 1,200
=

81. % 2,400 1 TR 2 7 & werafy s i v Rifve afwaﬁmm%étﬁﬁaé’ta« T 2,904 B ST 2 | g
nﬁwmmﬁrmwawmwwﬁ)wﬁm

(1) 460 (2) 436 (3) 480 (4) 389

A sum of ¥ 2,400 amounts to 2,904 in 2 years at a certain rate of compound interest compounded |

yearly. What will be the simple interest (in %) on the same sum for the same time and the same rate |
of interest ?

(1) 460 (2) 436 : @ 480 (4) 389
.

L}
2. 44T, 7 e 7 o e g 24 T o 5 ko o vt e o 197
It Y S g R "

=

(1) 3639 (2 3499 @) 3799 4) 3038

o PR
The average age of husband, wife and their child 4 years ago was 24 years and that of the husband
and the child 5 years ago was 19 years. The present age of the wife is

L o

o AT

(1) 36 years (2) 34 years (3) 37 years (4) 30 years
33. a}mﬂaaﬁmaﬂtmwﬁ%aﬁaqm?ﬁﬁ,wﬁgméunﬁmss%mgmaﬂzgﬁqﬁmgg%
Y o | 3 Ha 1 FooT WA 10,000 of, A 3 FY 51 Jey et oy e o

(1) 4800 (2) 4400 (3) 5000
=
In an election between two candidates Abhay and-Bharti, Abhay got 55% of the total valid votes, and

20% of the total votes were invalid. If the total&ymber of votes was 10,000, the number of valid

(4) 4200

votes that Abhay got was : }&;
(1) 4800 (2) 4400 & 5000 (4) 4200
T T o fTU W12 / SPACE FOR ROUGH WORK
3 ! & BN
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2 . L .
e 12 e s g 8 7 21 7R 3 s e g B e 81 &, 9 e i 1 A ofg

34.
et & | T H i AT e Y it g (7 ) R R 2
1 12 (2) 10 (3) 13 (4) 9
The average age of 12 boys in a group is 8 years. If 3 more boys join the group, the average is
increased by 1 year. What is the average age ‘(}n years) of the three new boys in the group ?
(1 12 (2) 10 Q (3) 13 4) 9
35, Frefas § & - v T 11 fesa 2o o
(1) 1987645 (2) 4873524 “D (3) 2875944 (4) 3587645
Which one of the following numbers is dlmsﬂﬂe by 11 ?
(1) 1987645 (2) 4873524 :H (3) 2875944 (4) 3587645

36. fafsr= a1 W o ofaw =1 F1 = arg-ane | awiian @ | AfE ufem # g =59 T 72,000 @, a1 e i
TR R % 3 (T H) foran 2 2

TS
@lertt
T \40° o
60° " qar3al
50° 30°
110° Y 70°
JrarTd s
O
ferem by
w0
O
(1) 30,000 (2) 25,000 2 (3) 32,000 (4) 22,000

Total expenditure of a family on different heads is shown in the pie-chart. If total expenditure of the
family is ¥ 72,000, then what is the total expenditure (in ¥) on Education and Entertainment ?

Entertamment
Shopping
Food “¢0° 60° Medicines
50° 30°
110° Y 70°
Transportation
Education ;‘1‘
0
™l
0
10
(1) 30,000 (2) 25,000 f:! (3) 32,000 (4) 22,000
— =
1 T & U STE / SPACE FOR ROUGH WORK
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(16)
B U F #7120 fot 5 g w2 | 399 5 7 R i wen
Miﬁmaﬂﬁ@mﬂmm,ﬁmﬁmﬁﬁ?ﬁ{ﬂﬁwﬁm
1 9 @) 8% 3) 98

o
Hiwg 399 FR # 12 fefi gy
(4) 8

Saurabh can complete a piece of work in 20 days. He worked for 5 days and left. Anirudh completed

the remaining work in 12 days. If both of ther%had done the work together, the work would have |
been completed in how many days ?

r~J
(1) 9 8 Q 8
) y 82
@ 82 13) o5 (4) 8
v324 1 r-_-:
38, — + = - 169+—1-$[I[FI%: #
J729 3 Je76 2
1
(1) 1 (2) 5 3) 2 4) 0
J324 1 169 1
The value of + = — + = is
J729 3 Je16 2
(1) 1 (2) % (3) 2 4) 0
239. L +3@m12_2x1l 4l Larmie
10 4 5 4 6 15 [¥e)
3 1 &0 8
1) - 2 - a3 — 4 1
The value of :
7 2 3 1 b LS | 1. b
LA TR | 1= of =+ 4— + — 18:
5 15 of y 14 0 3 6 15
8
ay = @ = @ — @ 1
7 5 15

40. 7 6,900 F1 L, M 3t N ¥ e 6: 819 % gwa i afer o & 1 4f L it M ¥ 3 T 300, N 1 e, A
L, M 3 N 3 et @1 7 S €
(1) 5:7:11 (2) 3:7:9 (8) 5:7:9 4) 3:5:9 |
7 6.900 is divided between L, M and N in the ratio of 6:8:9. If L and ‘M’ each gave ¥ 300 to N, &
then the new ratio of shares of L, Mand Nis: «

({w]
-7 (2) 3:7:9 3) 5:7:9 (4) 3:5:9
(1) §5:7:11 £

o
% w1d & forg 9E / sn@cs FOR ROUGH WORK

i
e

T T e e s e
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42,

43.

(17) JSA-2023/D7
W I/ Part 111
AT A&/ General Awareness
fraferid 3 & $i-81 Tsa Pufin Afim.afin iz foeen BR 220 (STARS) Wiode § i 787 2 2
(1) "EW (2) TSRIH
(3) wFAlCH (4) femreet wewr
Which of the following States is not covered under Sﬁrengthemng Teaching-Learning and Results for
States (STARS) Project ? m
(1) Madhya Pradesh (2)ggRaJ asthan
(3) Karnataka (4¥~Himachal Pradesh
™

v % frafefaa § & F-8 T0 § s 2023 F AR oftrrd e g @ @i F1 s e

T 9T 2
(1) U= (2) sffem (3) afHeTg (4) WX

In which of the following States did India host the ‘Hero Asian Champions Trophy’ hockey
tournament in August 2023 ?

(1) Punjab (2) Odisha (3) Tamil Nadu (4) Manipur

T faem Hfifa, 2020 # Sfeerfaa wres=mt aﬁtﬁmﬁmgﬁ%mﬁwﬁiﬁmﬁﬁaﬁq%ﬁgﬁmﬁmw
A 2 2
(1) U=B9¥ 10 (2) AS6d12 (3)@39&12 4) TE6H10

Which of the following grades does the Secondary sf‘aﬁke cover as per the Curricular and Pedagogical
Structure mentioned in the National Education Pohcy‘ 2020 ?

(1) Grades 9to 10 (2) Grades 6 to 12 (3) Grades 9 to 12 (4) Grades 6 to 10

Foetfetfiaa & & fore wed w1 TS ITCATSH HAIT (NAS), 2021 F eI iohel Shoaeh i TerehTia Y 31 0 dian
T o 9

(1) U e feremerdt e deam (NIOS)

(2) Tty ifeen e 3 e I (NIEPA)

(3) i Aty firem €€ (CBSE)

(4) T e SrgEY ST IRIET IREE (NCERT)

Which of the following organizations i8 entruste%with the task of developing the Assessment
Framework of National Achievement Survey (NAS),\2021 ?

"
(1) National Institute of Open Schooling (NIOS) ™~
(2) National Institute of Educational Planning andﬂ.dmuustrauon (NIEPA)

(8) Central Board of Secondary Education (CBSE)
(4) National Council for Educational Research and Training (NCERT)
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45.

46.

47,

48.

(18) |
w%ﬁn%f@aﬁﬁaﬂw.ﬁmﬁwzozsﬁ‘2023%@1’%3@‘%*%%%?
SO 5 2) T (3) ITEHITETS (4) AT

|
L

Which of the following Indian cities hosted t&‘d}

(1) Chennai (2) Mumbai ;‘:
I
v!---i f
S

ﬁqﬁa@ﬁ&ﬁmmﬁmﬁﬁqﬁn@w@m) F q SR 2017 - 18 ¥ ST 2020

‘2023 Squash World Cup’ in June 2023 ?
(3) Ahmedabad (4) Kolkata

- 21 T T ay |

{

e afis et mé 2

1) e (2) dfrerrg (3) JeHTHT (4) HERISE E

Which among the following Stateg has seen a steady increase every year from 2017 - 18 to 2020 - 21 g
in the overal] scores of Performance Grading Index (PGI) ?

(1) Chhattisgarh (2) Tamil Nady (3) Telangana (4) Maharash_tra

India’s first successful nuclear bomb

India’s launch of the first satellite into space

India’s counter insurgency operation againgt China in 1962
T

Promotion lSANKALP) 18 a skill
mme in India assisteq by which of the following ?
(1) SAARC () Internationa] Labour Organization :
(3) Worldg Bank (4) Usa
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g - ;
49, VI ¥ ST TFT 2022 — 23 F STTAR, A 2021 _ 22 ¥ forq Iuery e HHtwST % SHAN wpel (e F
o T T Tl el AT ST w AAfirn 0

(1) 3= WU (2) wrufhe (3) e (4) f-eper

According to the Economic Survey of India 2022 — 23, the School Gross Enrolment Ratio is the
highest at which level of schooling as per the latest data available for the year 2021 -227

(1) Upper primary  (2) Primary (3) Secondary ~ (4) Pre-school

50. mﬁﬁgﬁmw(wmmogaﬁ‘uﬁ%mmmn’mw%%m
fopam a2 5

<
(1) ATAR N (2) it e o7 R e ke

3) faaamse e § (4) & uferhe feeerd

Which of the following was awarded the ‘E,B_'st International Feature Film’ at the 95" Academy
Awards 2023 ? H

(1) TAR (2) All Quiet on the Western Front

(3) The Quiet Girl (4) The Elephant Whisperers

51, FreAferiae o & o 3 & & 2023 %1 IGH fEnTToT TR ford waT forar a2

(1) GH FHeIoL (2) aft SR (3) THTH. FM (4) ST g
Who among the following was awarded the Padma Vibhushan 2023 in the field of Art ?

(1) Suman Kalyanpur (2) Vani Jairam g (3) S.M. Krishna (4) Zakir Hussain
~
) - .
52. ﬁq%f@ﬁﬁﬁﬁqm%‘aﬁﬁm‘ﬁt‘ﬁ’mﬂgm‘?ﬁﬂﬂwmﬁwﬁmﬁﬁ?ﬁﬁﬁm%ﬁ
T W@ TATE 7 P
1) =@ (2) weeatd # (3 wE (4) TEE

(-

Which of the following planets has moons called ‘Ophelia’ and ‘Puck’ which have been named after

characters from William Shakespeare’s works ?

(1) Pluto (2) dJupiter (3) Mars (4) Uranus
. 473t sl derer faw oo HRE 3) w3 for 7 feeeh & § wh decrre wfser wred
SR Faar T | 3 5 irTsgr ATETeT o S oftr e o 2
(1) e, 3, 3 @ ww, A, el
3) n@wg@qﬁ%ﬁ@aﬂiﬂw (4) wifsasd AR

An International Museum Expo was organised in May in New Delhi to celebrate the
47 Tnternational Museum Day. What is the theme of the International Museum Day for this year ?

(1) ‘Museums, Memory, Welfare’
(3) ‘Museums, Sustainability, and Well Being’ (4) ‘Museums are History’

17368264

(2) ‘Museums, Heritage, History’

&
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54. U Rrem fifd (NEP) 2020 % awmawm # fassfaa fov st @ w1 Uia wiesssn Sewass (NCF) # frefarfag & ‘

55.

T FHH-A/HH-E e 28 2

A, = R fqu NCF

B. rifye aeasTe S@wTe 31 firen & fg NCF
C. 3reatfenss e & fow NCF

D. =raETtys e & o NCF

A=t faw e oz & Tt e bt = Hifw

(1) SHadTA3NRB (2) FHAAC I D (3) FAAA, BINC (4) FIAA

Which of the following is/are among the four National Curriculum Frameworks (NCF) being
developed under the aegis of NEP 2020 ?

A. NCF for School Education

B. NCEF for Early Childhood Care and Education
C. NCEF for Spiritual Education

D. NCF for Vocational Education

#17368264

#17368264

Choose the correct answer from the codes given below :

(1) Only Aand B (2) OnlyC and D (3) OnlyA,BandC (4) OnlyA

frferfiga s o famm s :

A. ¥ wreta it it S et s i fegwar €1

B. ngﬁﬁﬁﬁm@.@.gﬂﬁgﬁ%ﬁﬁmﬁm%ﬂmt@?ﬁﬁiw
o fow 7 e & w3 BT A A : 5
(1). ARBIARTTEE (2) Am%ﬁﬁsaﬁ%ﬁ
3) THATARIRAAB 4) AThfgBemE

Consider the following statements :
A. The two main genres of Indian classical music are Carnatic and Hindustani.

B. The Bharat Ratna awardee M.S. Subbulakshmi belongs to the genre of Hindustani music.

. Choose the correct answer from the codes given below :

(1) Both A and B are correct (2) Ais wrong but B is correct

(3) Neither A nor B is correct (4) Ais correct but B is wrong
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e (21)
oyt e e e e
A, foreft |ae & =T i O qte & T R s awar |
B, e (UfehT) & oo %9 e 2 | .
¢ adf edor, oo T FH AT | r‘é
F fw U e & T I F1 7 Fifvr - v
(1) %ad B3R C a2 Fﬂ(z} Faa Astcad g
(3) FIABUER '4;(4) Fad A BEE 2

Which of the following statements is/are correct about friction ?

A. Friction can be entirely eliminated on any surface.

B. Rolling reduces friction.

C. Sliding friction is smaller than the rolling friction.

Choose the correct answer from the codes given below :

(1) Only B and C are correct (2) Only A and C are correct

(3) Only B is correct (4) Only A and B are correct

6. ~W‘mﬁ%ﬁmmﬁmﬁamd@§@ﬁwﬁ)%ﬂm%?
(1) 7°CH®17°C (2) 17°CH 24°C g(s) 7°CH FH (4) 24°C § 3tfe=
What is the mean annual average tempera@‘e (in degrees Celsius) in ‘Temperate’ vegetation

zones ? H:
(1) 7°Cto 17°C (2) 17°Cto 24°C (3) Below 7°C (4) Above 24°C

8. Pl § & ieeiy wamEwEee MEs 2023 ¥ oo 7 ¥ fei foava it vl st Agrrfirrer afrdi
v T e, S S e e W et e it sriy < § it o, % freg o e

TS I ST ?
(1) JWAELEA (2) fomr faereme

(3) ST PR HFTH (4) =1 foewq

Who among the following is the winner of %23 ‘Goldman Environmental Prize’ for winning a
landmark case against ‘Formosa Plastics’, one 6fthe world’s largest petrochemical companies, for the
ulf Coast ?

{
I"Q(2l Delima Silalahi
w—t
;11:(4) Diane Wilson

illegal dumping of toxic plastics waste o1 Te

(1) Tero Mustonen
(3) Alessandra Korap Munduruku

W, S 9003 i sl £ TS S 3iTh TFH, 2022 RO F IER, FoL AT G A # WA H FA
AT far s & 2

) 60% (2) 50% 3) 70% 4) 40%

As per the ‘Status of Tigers, 2022 Report’ released in April 2023, what percentage of the total world
; > i ?

Wild tiger population does India account 10t !

1 60% (2) 50% (3) 70% 4) 40%
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(22)

60. =R Y =re S ik el

61.

62.

63.

(1) 3,00,000 nvs (2) 30,00,000 km/s

(3)  30,00,000 m/s

(4) 3,00,000 km/s
. <
Speed of light is about (o)
(!
(1) 3,00,000 m/s %) 30,00,000 km/s
M
(3) 30,00,000 m/s S;) 3,00,000 km/s
i
Frefafee & & s T ATt e 2 9
(1) drae, (2) diferefiy (3) TEH (4) HemTsy
Which of the following is a thermosetting plastic ?
<r
(1) PVC (2) Polythene & Nylon (4) Melamine

: (0]
W%mwﬁm‘mwﬁm’ﬂ?ﬂwg’?

i
(1) e (2) Frerhrar W) = (4) sz

Which Indian city was earlier referred to as the ‘Manchester of India’ ?

(1) Patna (2) Kolkata (3) Chennai (4) Ahmedabag

ﬁrm%ﬁgaﬁ@rﬁwﬁawirmsﬁmsﬂﬁmffﬂn 2023$rﬁ§a1aaﬁm'?

(1) TGS g TRz }5;}2) =13 gt fohrer

Which of the following teams won the Tata Indi

}&m TSI 2T

Hﬁ Premier League 2023 title ?

(1) Lucknow Super Giants (2) Chennai Super Kings

(3) Mumbai Indians (4) Gujarat Titans

i e i

&5

e A B M T A Y T T

|
3.
|
}
?
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eomen § 2 TR0 T w v § 4% e 9 3 B F 0 F1 999 T 8 9 wE e 7,

e

s=FaAAr SR FY B INE FAT 20 ~
- ¥,

5T > TEEE S T = (g B TEE S T
3, TEEE S AEEE o e —  (4) TEEE > GEmE > FEE

Wwhich of the following options depict the correct chronology in which the States given below were
created in independent India, starting from the State created first to the last ?

1) Tripura - Jharkhand - Nagaland (2) Tripura - Nagaland > Meghalaya
3, Meghalaya > Nagaland & Mizoram (4) Meghalaya - Mizoram - Jharkhand

ST HEAE % SER ANEEE #9000 BT 6 eeies § 9 .81 90 A9E FeiEa 981 a0
L -
I5s)

6

1) HOH F [AuzNEig F 959 3 90E0

3

73

-~ - = . - ~ -
2) SHia4a=® FH 02 g =] agdl

|

3 =F 9grE4 ® F9E E wEe S aEEal

Which of the following Fundamental Rights is not suspended when a Proclamation of Emergency is
in operation according to the Indian Constitution ?

1) Protection in respect of conviction for offences
2) Freedom to assemble peaceably and witl_irut arms

'3) Equality of opportunity in matters of P‘{%ﬁc employment

'4) Freedom of speech and expression ::":'
WA Sz s T F eEE A 92
) FIm A= (2) YO Fifean

YR —— (4) drat fif

Who was the founder of the ‘Independent Labour Party’in India ?

1) BR (2) Ram Manohar Lohia

f?U Ja}vaprakash Naraj’a.ﬂ (4) V.V.Giri

2k ‘> o AN .‘,___.". & caiiscal 5,$
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67. v & oo 4 9.0 e 2 e o o w7

-

(1) ¥ (2) &= (3) @) s

Which of the following rivers in the world does not have a single bridge across it ?

(1) Amazon (2) Thames (3) Negro '4) Nile
EN i
68. ﬁi‘ﬁ%ﬁﬁﬁﬁﬁamﬁ‘wﬁmﬁtm'ﬂw%éﬁmm 27
(1) iz (@) =rEr F. T (4) B
Which of the following places is -

69. Wﬂ%#ﬂrﬁﬁmﬁrﬁﬁ g RS

(3) m@ggw%qwﬂaﬁﬁwﬁﬁv (4) ﬁe?mﬁra‘h‘ra*’“asanm

Which of the following images duringthe French
(1) The eye within a triangle
(3) A snake biting its tail to form a ring

N

i
Rggolution stood for the Svmbaol of Eterniry 2
i2§ The broken chain

\4_?: The wingeq Woman

70. Tr=fofe ﬁ%‘r?ﬁq-mﬁﬂaﬁﬁiﬂ?ﬂmmmmém@%wmhﬁi
Wﬁﬁmwﬁmqﬁmg‘m? RS EES Q".i,:-i,.,.q?'.'.:
1) 7 sfaFr uet
(@) G e Wi e feradi
(3) TSR e iR wiay f
(4)  TETE Fr=H gy "
0
Which of the following ¢ ~

rganizations is associggeqg with the people’ ement for Ry

) . s ple’s move s a2 o
Information which €ventually led to the enactmeng gf the Right to Information Act ? - iR
% Acy? i

(1) Jan Adhikar Morchg

— 1

(2)  People’s Union for Ciwil Liberties i
(3) Mazdoor Kisan Shakti Sangathan
4} Safai Karamchay Sabha
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- ¥\ IV/Part IV

WTST FeTHAT qiterur (AT HUS)
Language Competency Test (General English)

Read the passage given below and answer the questions (71 - 75) that follow :

Dadi had come to the hospital for operatig for an eye ailment. The operation had gone well and
she was on the road to recovery. On the day @the expected discharge, when Tanuja’s mother came
to the hospital to complete the formalities aqm take her home, she was accosted by some hospital
inmates at the gate who told her, ‘Where hav;;ou been all this time ? Your old mother slipped from
her bed at night and broke her hip bone.” Tanuja’s mother rushed in to provide succour to her

mother. After emergency treatment, Dadi was shifted to the orthopaedic ward. A complicated

surgery followed which necessitated her stay in the hospital for six weeks for convalescence. In the

hospital, she was looked after by Tanuja and Machhli during the day, while Tanuja’s mother stayed
with her during the night. After a few days, when Machhli found Tanuja’s mother overworked as she
had to take care of her home too, she oﬂ‘ered@ do the night shift too. Machhli’s devoted service for

Dadi’s recovery brought her closer to Dadi ant%er family.

Over the years, Machhli had served manj, many patients but there was something so affectionate,
i

so endearing in Dadi that brought Machhli clese to her. Machhli could not help recalling that in her

village home too, she had a grandmother who resembled Dadi in many ways, including the way Dadi

showered affection on all those who came in contact with her. In the hospital, Dadi showered affection

on doctors, nurses, attendants, in fact, on all those who touched her life even in oblique ways. The

hospital personnel too called her Dadi and gave her due respect and regard.

1. What unfortunate thing had happened to [@ii 7

(1) She had fainted unexpectedly-
d on the roadside.

(2) She had broken her hip bone.

(3) She had stumble (4) She had suffered a heart attack.
e had s

#173682

; 9

. What does ‘convalescence mean _ .
(1) showing no signs of recovery (2) getting weaker day by day
(4) improvement in health condition

(3) feeling depressed
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73.

4.

75.

76.

1.

78.

(26)
State which of the following statements is true/false.

A, The hospital personnel treated Dadi with contempt.

~

B. Dadi was affectionate towards everyone,

(1) “A’is true but ‘B’ is false. «2) Both ‘A’ and ‘B’ are false.
(£
‘L{d) Both ‘A’ and ‘B’ are true.
(i
a)

[
How does Machhli come out as a person in the passage ?
H

(3) ‘A’is false but ‘B’ is true.

(1) friendly and devoted (2) cold and uncaring
(3) thoughtless and frivolous (4) vain and arrogant

The tone of the Passage is :

(1) narrative (2) discursive (3) argumentative (4) reflective

b i
In the given sentence, identify the part which coﬂf.ams an error,

It seems that / he hasn’t met you / for a long tlmeﬂ:’ isit?
a b c F: d .
(1) e 2 b j(‘{;.) i 5, 2 |
Choose the word opposite in meaning to the given word -
MODESTY
(1) Arrogance (2) Meekness (3) Violence (@) Anger
Rearrange the parts in correct order to make a mﬁlmngful sentence :
A. and finally caught him ;11:
B. while he was jumping onto : I
re=y
C. they ran after the thief i
D. a speeding bus
(1) BCDA (2) CABD (3) ABCD @ ChAD
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Choose the correct meaning of the idiom/phrase given below :

be down with

(1) being humiliated (2) coming from a poor background
(3) biding one’s time - (4) suffering from an ailment
Xs)
o
Choose the word nearest in meaning to the gi\{r_%} word :
MELANCHOLIC ~
=
(1) Serious (2) Jubilant £ (3) Sad (4) Frustrated

Fill in the blank with the appropriate Article.

We should always take care of poor.
(1) the (2) an (3) No article (4) a

Choose the best option in which the given se%ence has been changed from Active Voice to Passive

. ~J
Voice. )
Ilost my watch in the rural fair. : ‘.‘g
re
(1) In the rural fair, I lost my watch. ~i (2) My watch was lost in the rural fair.
e
(3) My watch is lost in the rural fair. (4) My watch has been lost in the rural fair.

Fill in the blank with the appropriate form of the Verb that agrees with the Subject.

Each one of the workers a raise in salary from the coming month.

(1) are wanting (2) wants (3) have wanted (4) want

Choose the option which correctly identifies th@}tense of the underlined part in the given sentence.
Aren’t they going to meet you soon ? : é
(1) Past Continuous Tense ¢+ (2) Present Continuous Tense

| =,
1 (4) Simple Present Tense
(3) Simple Future Tense H‘ THIRE S 1000

Fill in the blank by choosing the correct form of the Verb.

By the time I met him, he ———— reading the voluminous novel.
€ time 1 met nimni,

1) finishi (2) had finished (3) will finish (4) finished
was finishing
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W IV/Part IV %

W werwen wdtgror (v fawdt) 1

Language Competeqpy Test (General Hindi)
\0
FeTforRee erter o o
Wmﬁ%wmaﬂa@m (86 - 89) ¥ weltwr I Ffrg -

3 ST
@) o B g “ﬁ‘mfjtl
w3 gi‘:\
(3) %%Mﬁmér :E;
@ TS ST e | 0
=
87. mﬁm%‘%‘lﬁm%m ‘ v
SURIT % Wy af
1) ﬁmﬁmﬂﬁ%ﬁ%l a1 SR R R g
@ mwﬁmﬁm%l
(3) sﬁgﬁa‘ﬁﬂ?ﬂiﬁma}%l
(4) A By |
88, ﬁm%mvﬁr—wﬁﬁwqﬂmw?
(1) ST STt | ) "
@ 3 ey et e ::;
(3) ST 31 S 3o e & w3
4) Wﬂanmﬁwqmm%ql Wq&?@%“whﬁql

89, mawmaﬁéﬁﬁ'mﬁm. 0
(1) ww;ﬁmﬁtﬁuﬁm
@) Wﬁm%mﬂﬁlﬁ‘ﬁm%.
3) m%ﬁm]ﬁwml
@ TEH ey,
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[90.

freferfed & § I-A1 forere w7 2 o

(1) 9 T T TR TR B e — e

(29)

(3) TEETS H U TR VR €1 arerr _ arfren

g TG [ETaL T TN 7o R -

(1) SR HH FAT
(3) HF &M 7 e

, ﬁm%ﬁmsmﬁﬁ%wﬁ%mnmhmﬁvﬁ%:;

(1 e (2) Tfeoft

. fefafea g @ @ aftraemwse 78 2 -

(1) 38T (2) ST

04, “TIX qT R AT SIAT’ Utk § ST B

(1) 9 (2) 3SUAT

95. Ffofga § & srE I @ :

(1) Eﬁgﬁ@ﬁﬁmﬁ%l
(3) sEdRwHEAr|

6. TR A g A G TR

(1) w\egrEd (2) JUAET

(1) 37 o1 ot 37 o &
(3) Geeh! QU GHZAT T1ET

8. Fereliap wroq & T €
(1) wdura (2) aAqRd
. Prrferfia i & frent wifer e Y2 78 €
(1) geaEm (2) farsi
. Prefirfag & & araa et Te- 39 &
(1) Sfiifqa —9a
@) sfeer - weet

Fi/308204 F 17308404

T | /5308404

(2)
(4)

(2)

(3)

3)

(3)

(2
(4)

(3)

(2)
(4)

(3)

(3

(2)
(4)

JSA-2023/D7

geTe i U SR WeRIII B ATl — AT

e 3 e S TR B AT — Hifesh

. 3T syl @) ST AT SRR T FreEd B 8 H I E

G i s AT

=) 73U AT

I (4) Qi
TUGHR (4) TEIER
Iy (4) 9+
g ATaTSt feeef A @t € 1

T anflanft T TITE ¥ |

ESrCLol (4) VYA
YTehT 9AT HiAT <R
THR g e &

o (4) Ir=TNE
sfedf@ (4) Frmem
am — sfie

oI — B
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101,

102.

103.

1044

(30 %
T V/Part V
WYL WATHA &1 HTUH Wi/ Basic Knnwledgo of Computer Operation

mmm&w%mmmﬁmmmﬁnﬁaﬁw W12 T it WA A AT A
SN ¥ forw st wain f st @ 2 o

(a8
(1) $e 9% (Format Painter) 1“:‘3) HTE FTPT (Format Stamp)
(3) Snfe T4 (Format Move) :‘fél e Y (Format Copy)

is used to quickly apply the same formatting, such as colour, font style and size, or border
style, to multiple pieces of text or graphics.

(1) Format Painter (2) Format Stamp

(3) Format Move (4) Format Copy

mﬁﬁ:wmwﬁqéﬁﬁmw@%m@nﬁrﬁgﬁﬁﬁmm%a&ﬁﬁmﬂﬁmmﬁu

(1) Nmfé'ﬂﬁm(Operatmg System) %2) F U (Camera Pixels)

(3) ﬁﬂﬁ?ﬁé(Ethernet Port) N4) mﬁfﬂﬁﬂnternal Memory)
=

Tarunji Sen is planning to buy a new smartphol::il:g. Which one of the foll

owing aspects should he not
be bothered about ?

(1) Operating System (2) Camera Pixels

(3) Ethernet Port (4) Internal Memory

Frefetfaa & & 2181 VoIP #1 @ pi wa 2 2

(1) Voice over Internet Protocol %2) Voice on Internet Protocol

%) Video over Internet Protocol
Which out of the following is the correct full fomﬁ@f VoIP ?

(3) Voice over Internetwork Protocol

(1) Voice over Internet Protocol 1;2} Voice on Internet Protocol

(3) Voice over Internetwork Protocol (4) Video over Internet Protoco]

ﬁm%f@aﬁﬁm-mwmwﬁmm&mm%?

(1) .mp4 (2) .avi @) pdt 4) _moy
Which out of following is not a file extension of a video file ?
(1) mp4 (2) .avi @) .pdt 9 mgy
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105-

106.

107, s i & r-an o1 9 (IP)

—_— (31)
ATRFT feren (Operating System) foramt us e 29

) WW (Utility Software) &1

(2) ST S (Language Processor) %

3 fo=m HHRAH (System Software) &7

(4) OfcTehT Hiwaa (Application Software)

An Operating System is an example of :
(1) Utility Software
(2) Language Processor

#1736826%4

(3) System Software
(4) Application Software

e § faerfaa LEC L FRFFHL 2

(1) E (ARYABHATTA)

(2) YW (PARAM)

(3) foemer (VISHAL)

4) 9& (BUDDHA)

The first supercomputer developed in India is
(1) ARYABHATTA

(2) PARAM

(3) VISHAL

(4) BUDDHA

- #17368264

w3 G T TR ?

(1) 202.54.256.30
(2) 10.10.10.120
(3) 25.16.25.100
(4) 198.168.30.9

Which out of the followin
(1) 202.54.256.30

(2) 10.10.10.120

(3) 25.16.25.100

(4) 198.168.30.9

7368264

g is not an example Q'EIP Address ?

JSA-2023/D7

G, i rou
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108. Wﬁzﬁwwm%m@ﬁwm%ﬁhﬁmﬁﬁaWWM%ﬁﬁ?

(i_—) Slide Transitions

o

{t% Slide Movements

)

are the visual effects which appear in PO\{{Q‘Point when one slide moves to next.

(1) Slide Effects

(3) Slide Frames

Gk
(1) Slide Effects (2) Slide Transitions

(3) Slide Frames (4) Slide Movements

109. ﬁmmﬁ@mmﬁmm%mmﬁam%&mwmmm

(1) Ctrl+P J2) Alt+C
o
(3) Ctrl+Y ‘&3) Ctrl + C

: b e ™1
Which out of the following is the combination of feys used to copy a selected text in word ‘processing
L !

software ? 3
(1) Ctrl+P (2) Alt+C
(3) Ctrl+Y (4) Ctrl+C

110. FHferfes 3 & TCP %1 Wl qof ww A2

(1) Transmission Central Protocol

(2) Transportation Control Protocol

(3) Transport Control Protocol

(4) Transmission Control Protocol

#1TIILODEC 4

Which out of the following is the correct fu]] form of TCP ?
(1) Transmission Central Protocol

(2) Transportation Control Protocol

(8) Transport Control Protocol

(4) Transmission Control Protocol
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112.

(3) HDMI Splitter 0
0
; k)
o . .
113, ﬁmﬁﬁaﬁﬁﬂﬂﬂmﬁigﬁﬁﬁﬁaﬁﬁﬁ%ﬁmﬁ@ﬂmmmmm%mwﬁm
JugRd €I ? i1
(1) HDMI (25 PS2 (3) VGA (4) USB
Quality

114,

il S ——

(83) JSA-2023/D7 |

1) .tiff av i
l @) jpg (3) .png (4) .wav
Which of the following is not a file extension of an image file ?

(1) tiff (2) .jpg (3) .png (4) .wav
2 &)
Wm@@ﬁmm%@miwﬁwmﬂmﬁmﬁmﬁ 24 FFILY

e F AT TR R | ﬁwﬁ%qﬁm%@aﬁ‘@%&mmgﬁnmaﬁq?
(1) et (Repeater) '”'(2) & (Switch)

(3) TS uH N firet (HDMI Splitter) (4) =X (Booster)

ct 24 computers in his office using Ethernet Cable as part

hould he use for the same ?

Gafoor Shanty is planning to conne of a

Local Area Network. Which one of the following devices s

(1) Repeater (2) Switch

4 Booster

Whith ¢ of the following ports will be most suitable for connecting High
1C out ©

?
Audio-Video output on 2 PC/laptop

(1) HDMI (2) PS2 (3) VGA (4) USB

c?

W)

e AAHE @gzn(RDBMS}wWaa?%?

P & -8 T R @

3

L Server (3) IBM DB2 (4) MySQL
(1) MS Excel () MSSQ 2
tabase Management System

Whi ¢ the following .s nof an example of a Relational Da
ich out of the
(RDBMS) ?

9) MS gQL Server (3) IBM DB2 @) MySQL
(1) MS Excel (
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115. https ¥ ‘s’ &1 T 3} & 9
(1) Stream (2) Security
(3) Space (4) Secure

What does ‘s’ stand for in https ?

™

(1) Stream ‘rfj (2) Security
0
(3) Space i(3(4) Secure

=
116, Frefirfe 3 & i wrear srae 3 o it 7 vt o w2 2
( a&?ﬂamﬁamwwﬁmﬁmm
@) ol e & = 2 feep i S e
(3)  Tobell 3 TfeTs Seh srehrSz i AW e i et & £ St e
@) W i s w Rt 3 am 2
Which out of the following cannot be reported as Cyber Crime ?
(1) Sharing of pornographic content online %

(2) Theft of a brand new hard disk from a shqcxfgjroom

M
(3) Entering into someone’s online bank accoyzgt and transferring money from there

(4) Threatening someone on social media plat%rm

117. T O TR 3 Ot 49 3 o i reforfaa & @ #ar o 2 9
(1) ¥4l % €U (Collection of values)
(2) BT FTEHIET (Collection of formulae)
(8) WY (ATYIEE) Tt 1 G (Collection of occupied cells)
(4) T §CHS T HIEY (Collection of chosen celgp)

™
Which out of the following is true about cel] ra%e in MS Excel ?

7
(1) Collection of values P
v
(2) Collection of formulae I

(8) Collection of occupied cells

(4) | Collection of chosen cells

=
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119

120.

121,

-2023/D7
(35) JSA

: J
g, A EET } meﬁ%ﬁﬁ.m%?

t ) .
(1) -PWP (2) .pdocx ::Ei (3) .ppoint (4) .pptx
- - - f I-‘.h
Which out of the following is the extension of' MS PowerPoint file ?

(1) .pwpt (2) .pdoex (3) .ppoint (4) .pptx

1) .xcl (2) xlsx (3) .xelx (4) .excel

Which out of the following is the correct file extension of an Excel file ?

x
Wi

wxeel
(1) .xcl (2) xlsx ~ (8) .xelx (4) .exce

v
[ - .
mm@mmmwmﬁwm%mmﬁmﬁ%g@mﬁm
wﬁ%m%mmﬂammﬁ%%ﬁWWWéﬁ?
(1) TS (Writer) (2) & (Cale)

(3) ETATEE (PowerPoint) (4) 3999 (Impress)

d in making a digital presentation for marketing his company’s new

Shangle is intereste .
Mohak g Software. Which of the following software will you suggest for the

product using an Open Source

same ? W
{ f;{“f (2) Calc -
(1) Writer v
FL} (4) Impress
(3) PowerPoint B
a4,
9
mztizaﬁ?ﬂﬁ?ﬂaﬁﬁbpsﬂi\"f"mwa'

(2) bytes per second

(1) bits per system
e pe (4) bits per second

(3) bytes per system '
| Bviese . terms of computer networking ?
rm of bps 10

What is the full fo (2) bytes per second

; m
(1) bits per syste (4) bits per second

(3) bytes per syste™
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(36) <t
)
122, F=fefaa § & #59-a7 arqf mwwm@mg‘?%‘a
(1) AR (Linux) (2PVTH T SIS (MS Windows)
™
(3)  Hifsrem BRRABTFT (Mozilla Firefox) (4):17% 31 TH (MacOS)

123,

124.

125.

Which out of the following is not an example of Operating System ?

(1) Linux (2) MS Windows

(3) Mozilla Firefox (4) MacOS

Fretteriad 3 & 1.4 st ddtarre diveder Rt e % fore 78F S ST 2 2

(1) HIH (McAfee) (2t (Tally)

(3) FTHEHT (Kaspersky) (4%:1% (Norton)

Which out of the following companies are not knowmor developing Antivirus software ?
(1) McAfee (ZPETally

(3) Kaspersky (4) Norton

frerferfiaa & & #-a1 v 392 fearsg (3ueron) 78 22

(1) SR (Joystick) (2) WX (Plotter)
(3) @N&IE TN (Barcode Scanner) (4) =g (Touchpad)
Which out of the following is not an input device ? «
' e
(1) Joystick (2&;P10tter
0O
(3) Barcode Scanner (4rTouchpad
P
|
'-.H'-
fraferfiaa # & #1-ot oo o< gt s @ 2
(1) THETETEE (Exabyte) (2) WETSTEE (Petabyte)
(3) fTETEe (Gigabyte) (4) TSR (Kilobyte)

Which out of the following is the largest memory unit ?

(1) Exabyte (2) Petabyte

(3) Gigabyte (4) Kilobyte

&5
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126, T TS U SR % w0 H sz fdtd s @ R ot e wiifen, O afén st wrfein i frme A s
2 SR BN AT TR A 50 2R Y A g € | g ot Frerferfiad § & -8 A ITH # 2

127.

128.

(1)
(3)

e (N
(Notepad) q(T (2) %% (Calc)
whlae T3 (A ~
(Acrobat Reader) | :_ r\i (4) THTETS (MS Word)
o

. , . p
Eena Khande is creating her project reportas a document and is interested in typing the same in an

easy-to-use software with facility of forma _{ng,

page setting and styling features. Which out of the

following software will be ideal for the same ?

(1) Notepad (2) Cale

(3)

Acrobat Reader (4) MS Word

@ﬁa@a%aﬁﬁﬁmﬁ%ﬁﬁwéﬂ?ﬁ%?

(1
(2)
(3)
(4)

Which of the fo

(1)
(2)
(3)
(4)

Fﬁtﬁq\(cpumqgfsqw%? o

(1) Central Primary Unit =

(3) Center Processing Unit

foguivadaate 3
ST ) AR A TR E o)
i e 1 o 1 S 2
SoauimeRFaT IR

llowing in not valid about an email address ?

Email Address cannot have space in it

Email Address can have multiple dot (.) operators

Email Address can have any number of @ symbols

Email Address should have one @ symbol
=
0
~
0
™
(2) Central Process Unit

i

{4 (4) Central Processing Unit

What is the full form of CPU?

(1)
(3)

Central Primary Unit (2) Central Process Unit
Center Processing Unit (4) Central Processing Unit
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129. Frfeiflea & & #-ar HTTP Fwd i ww R 2

130.

(1) HyperText Transfer Protocol

(3) HyperText Transmission Protocol

(38)

(2) Higher Text Transfer Protocol

(4) Hyper Transfer Text Protocol

Which of the following is the correct full form of HTTP ?

(1) HyperText Transfer Protocol

(3) HyperText Transmission Protocol

;\gz) Higher Text Transfer Protocol

™~
0(4) Hyper Transfer Text Protocol
WO

{r

™

e o %aﬂq-mﬁaa%w(smm-a‘m‘mhﬁa%ﬁhm%?

(1)

Iz
[ [Ib
Bt

(3)

o\ o
(2) & EI
&/

T

\

o ' | 1
) :

™

™

4

]
——==h

Which out of the following represents STAR topology of Network ?

;

(1)

=
£

=

(3)

—
(2) I'E

<
(1o
™
0

™
) ﬂﬁ‘
5

th
=2

&
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